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792y A unak 17 Ywhww 1132 — In a case where he lowered his
hand below 3 o°15v from the ground and he received it.

Overview:

There is a nP177n in (X,2% — 2,X¥ 77) ¥°1¥77 P79 concerning the concept of 7aR
meaning bound or tied. What concerns us is the concept of 7> 7aX. In a case
where the hand and the body are in two different n1wa and, more
specifically, the hand is 'a» vn? in its MW", do we say that 7aR RW 70 TR,
that the hand is bound and drawn to the body, and therefore, notwithstanding
that it is "3 71, it is not considered at rest in that MM, or do we say T° 7aR
TAR 7MW RY, that in this case, the hand is not considered bound to the body,
but rather we consider it totally at rest in the MW where it is '3 nunb.

17728 527 929 — and we need to say that 728 %29 - who limits the 71wn to a
situation where the receiver’s hand is below 3 2’17190 — maintains

TAR ;7w 79 7ART - that the binding of the hand to the body is considered
binding, meaning that even when one’s hand is below 3 o°nov and it is therefore
considered as if it is actually on the ground (and a '7 01Pn), however if the person’s body
is in a different MW" from his hand, we do not consider that person’s hand totally at rest
in the mMw" where the hand is, rather we say that the hand is attached to the body and is
drawn to the N1 of the body.

7R 7R M7 K ORT — for if we were to say that 172X 21 does not consider
the hand to be bound to the body, but rather we view it as being totally at rest in the
mMwn where it is, there would be a difficulty;

72107 %1y HuiT HIwY XX 8% — why did the mawn teach us previously, that
only when the 1y took the object from the hand of the 2"7va in the >"77, and
withdrew it to the 2"717, only then is the 21 °1v? If we maintain that 7R 7Pw 87 7 TR, it
is not necessary for the "1¥ to take the object from the s"2"7v2 hand to be 211, for -

172303 2''77w32 301 7998R — even if the 2''7w2 put the object into the s"1v hand
NOXTWD %1w 2991 N7 — the v should also be 233917 when he withdraws his
hand from the "7 to the 1"7".

How can this be? The "1v seemingly did not make an 77°p¥ from the 2"7y2 7, rather the
2"17va placed the object into the "1y 7°, so where is the 77°P¥? MdOIN explains:

3R TURY TNTT YA MR NPT 79T 10 — since the situation is that the sy
hand is also below o°mov ' from the ground. How do we know this? —

TAR °IV2 MR 1Y 7N nvan Bya 7 RanenT — for it is to be assumed that the
2'"nwva 7 as well as the 177 7° are in the same position. To ascertain their
positions, let us go back to the actual case of the mawn, where the 1v is 217 for XX17 -
a7 Bya Hw 170 0 Bl 95 X7 — when the "1 removed the object from 7°
a'"'nmwa
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"sn mun® 977 — which — the 2"7v2 7° — was below 2°mov 'a, for otherwise, if the
2"y 7 would be " 75vn% the °1v would not be 21 for 18X, because there was no
"7 0IPn "2 Yy ARy

"3 moRY ol vy 70 X7 — the %1w 70 was obviously also below o°mou '3, for it
would be most unusual to say that the 2"7v2 7> was immediately below the 2rov '3 level
and the "1y 7 that removed it from his hand was immediately above the 2190 "3 level. It is
more natural to assume that both their hands were below the o°mdv "3 level —

2957 RiT9 %Y 70 IND 2''57Ya 3091 99K RI1A X723 — and in such an instance
where the (2"7v2 ) "1 7 is below 219v '3, even if the 2'"77v2 places the
object into the %1¥ 73 and the "1¥ withdraws the object to the 1"17, the "1y will

be 2977 if we hold 73X 7w X2 T 7R, because by definition the w71 7 will be considered
totally at rest in the *"i7, and when he picks up his hand from 'wa nvn% it will be
considered an 77°py from its resting place in the "7, and when he withdraws his hand
from the "7 to the 7"77 he will be 21 for IXX17. Therefore we have to say that 172X °29
maintains that 7aR 7w 7 7aR that when the hand and the body are in two different n1"wA
the hand is not considered at rest in the MW where it is, therefore we understand that if
the 2"nva placed the object in the *"7172 *vi1 7> even if it was '\ 70nb, but since W 7° 728
7%, the °1v77 7° is not at rest in the "7, therefore when he withdraws his hand from the
>"777 there was no 717°py and the *1v is (70X 72X) 7o, The only time that '3 7vn? would be
considered at rest is if 17°1 1912 are in the same Mw".

Summary:
We must say that 172X °27, who explains that the 71wn is in a case where the

receiver received the object while his hand was below 3 onov from the
ground, maintains that 73X 72w 7° 7aR. For if he would hold 7R 7°nw X7, then
the 7X¥7 2117 for the "1¥ would be, not only when the "1y was 2P the object
from 2"7v2 7°, but even when the 2"7va placed the object *1vi 7°2 which is
DoY) munb.

Thinking it over

1. Understand why msoin proof that 7aX 72w 7> 72X is only according to 27
12N,

2. Does 172X 27 maintain that we need a >"'172 '7 Dpn?

3. How do we reconcile the 7u°w of 7R 7nw RS 7° 728 with the (X,)) X713 that
states 111 X7 17°?

4. Is there any room for attempting to refute N1901N proof?

5. Why did not m801n prove his point from the case in the 7iwn which states:
0 WD O XXM A9INY NI IR N1 "19s vwo, and if TAR 7MW XY 70 TAR, then
the "1y should be 2711.

! Compare to the "7 ¥pnn Y9I NPYI 1233 77PY K,3 RN



